Question Paper Title : FG_06

Date of Exam : 11-06-2019 02:30 PM

Reference 1D:(20715) WRIT=58,BOY=84,J0Y=100,dRFLEW=__7

A.90
B.91
C.92

D.93

Answer: C.92

Reference 1D:(18459) TehTH TR HigA Ui, ot F3d Ul
IR TR gad aTad WISy glad.

AT HIUR HiG[ Urfge! 701 ot T3hd 4Rl
B.Teh [ HIURY HI ifeell &1 ot &9 HRefl.

C. UM AU HIgA Urfgelt ur ot =3d Ul

D.ThM F3d HIUR HioTe,

Answer: C. T HIUN HigA Ulfgell T ol 93d R,

Reference 1D:(17397) 9.95+25+325-(2.75+3.5-475+0.5) =
A.13.35

B.13.25



C.13.85

D.13.70
Answer: D.13.70
Reference 1D:(18205) YRS ST SR IUHT ¢al Ad T4, WU Siegl SUHITAT SuRr = IudT faat

ST AR oo PR Il

A ST
B.IgHTaIa
C. &

D.3{q-dY

Answer: D.3{4dY

Reference 1D:(27007) Select the correct passive voice form of the sentence: Ramesh has written the letter.

A.Ramesh is into letter writing
B.Ramesh is writing the letter
C.Letter writing is being done by Ramesh

D.The letter has been written by Ramesh

Answer: D.The letter has been written by Ramesh

Reference 1D:(29874) Pick the right antonym for the word:
Extraterrestrial



A.Earthly
B.Blessed
C.Forests

D.Homogenous

Answer: A.Earthly

Reference 1D:(22593) SR § 31Tg '+ 3N @ 3R '—', TR WIeiada! Jatd HIdT Uaig HIurar 3118 ?

A125@62@35$74$102@ 93 $45$ 37
B48$17$25$32@ 126 @ 104 $34 $ 74
C19@12@45$42$36 @ 103 $ 45 $ 207

D144 @67@25$32@26% 104 @ 44 @ 13

Answer: A125@62@35%$74$102 @93 $45% 37

Reference 1D:(19248) AT HROM BN AFRIRTAT THHTY 31T G Ieticp! shI0TaT TR Mg o s,
A TR QURTIS Sieor

B.lk te gIul

C.3erey R} HRul

D .UIYTE H0!

Answer: D .UIYITE H0!



Reference 1D:(24674)

Answer:

Reference ID:(16508)

Answer:

Reference ID:(25785)

Answer:

gyTde areTd RepTHT ST HRUgMg 9afd 9 Weg Al
T UdH Al JIad WD ... ¢aT Bl

AT

EREINEIEI

D.F9uTTET

A YT

T ST faH1d, A1%, 31, -1, TaH 0T fRIS § G I UhAdhidhs die
YA ATeY. 81 8T RIS Srdidhe gu=aT shHidhIaR 3MTg. U= [ISIRT Saial
3T BT ST HUINIA 31T, aTe 1 fhioredt TSR 318, Ta Sf0T aree Siile
JEAEGd HedFaR Tl fSHTul Tred VSR DHI0T SRclc?

A3 ST oA
B.fthRIet 31foT femig
C.3f-dR IO fhe
MENRECIEIHHEI]

A 35T 3T foqra

ST Safafdydr HRR ot auff SiHerd 3ier?

A.1981
B.1997
C.1993

D.2000

C.1993



Reference ID:(17370) 8.25+55+12+6.25-(5.25-8.75+225)=

A.32.75

B.33.35

C.33.25

D.32.85

Answer: C.33.25

Reference 1D:(24193) WU ATHRUM T8 S Xeq-alRa Srael Ve el

AT

B.ANd
c.ufef

D.h Y-l

Answer: C.afe

Reference 1D:(27388) Identify the figure of speech in the following sentence: The leaves waved in the
wind.
A.Personification

B.Metaphor

C.Apostrophe



D.Simile

Answer: A.Personification

Reference ID:(22567) Wit Fafd de gafg HIurr 38 2

A22+11-72+45-65-13+42 +57
B.118 +17-52 + 35-156 + 104 - 44 - 37
C.79+45+162+45+36- 103 +42 + 17

D.38-107-52-35-56+104 + 144 -7

Answer: B.118 +17-52 + 35-156 + 104 - 44 - 37

Reference 1D:(21704) WRA=1,B=2,C=3,...Z =26, R Td U SV 7T SRR 31?2

A{J+A+C+K}={C+A+R}
B{U+A+C+K}<{C+A+R}
C{U+A+C+K}>{C+A+R}

D{C+A+R}={B+U+S}

Answer: C{U+A+C+K}>{C+A+R}

Reference 1D:(32679) HRAT FAI3! "3 gt Xa-1 HIvf Hail?

A.3MR.& IR

B.3dd U9, Ufs



C. o T Se!

D.3¢d $UR

Answer: D.3cd $HR

Reference 1D:(20969) e did RS ST HRE S, M, , W, T,F, S, S

AZ
B.F
CW

D.T

Answer: D.T

Reference 1D:(31441) GHTEI, S giedT R IS1Y S IS | 7o Hiurd §hd?

AFHCH HeH Fei off

B.U R gdd & &l

C.UHd Il 3

D. 3T 3{TSITGl &l 8H

Answer: A.HcH HeH Jei ST



Reference 1D:(35160)

Answer:

Reference 1D:(29139)

Tet fededT Uamdent 3 U GHTA 3med MfoT 1 f3e 3118, piordT v fie o siieswar?

A.88/H/23 parmod Kumar,
New Narotam Nagar,
Khanna, Ratan heri Road,
Punjab

PH 0208011004

B.88/H/23 parmod Kumairr,
New Narotam Nagar,
Khanna, Ratan heri Road,
Punjab

PH 0208011004

C.88/H/23 parmod Kumair,
New Narotam Nagar,
Khanna, Ratan heri Road,
Punjab

PH 0208011004

D.88/H/23 parmod Kumair,
New Narotam Nagar,
Khanna, Ratan hari Road,
Punjab

PH 0208011004

D.88/H/23 parmod Kumair,
New Narotam Nagar,
Khanna, Ratan hari Road,
Punjab

PH 0208011004

Pick the right meaning of the highlighted word in the sentence:
The lit fireplace gave the room a congenial atmosphere

A. A dark and dingy
B.A dull and boring person or environment

C.A pleasant and enjoyable person or environment

D.A disgusting person or situation



Answer: C.A pleasant and enjoyable person or environment

Reference 1D:(32684) TTeadd! HIvTdT drger U ATal?

INCIGRIE
B.gHCISC
C.J¥mRe

D.HIcIse

Answer: A STRITSC

Reference 1D:(18740) 3ISTeh P STsd. T aTaTal B HIVT?

AT YT BT
B. 18T daHH T

C.J1YT YAPHIS
D.3(quf gHAF®HIS

Answer: AT Hid® b1

Reference 1D:(21223) SR BROCCOLI 8 ¥sd BCCILOOR 3¢ 3101 BOWEL 8T Xsd BELOW 3{d, dR
CABBAGE BT ¥lg 3.

A.AABBECG
B.BBAACEG
C.AABBEGC

D.AABBCEG



Answer: D.AABBCEG

Reference 1D:(30355) Find the word opposite in meaning to the word: Nimble

A.Clever
B.Alert
C.Dull

D.Fast

Answer: C.Dull

Reference ID:(31438) A e =i G&aT e (Tl T SHTIOr g Aifgdl SRIerd (ST I
Ul 29y S0 SaTd?

ARTYU!
B.YRdTe T =iy

C . Sidtem ugQ

D . Ja IR hIvde! I <armefi=n

Answer: A.TIEQT—YT

Reference 1D:(20996) AT RBTH SR HRT: 12, 23, 45, 56, 78, 89, , 122, 144
A.113
B.112

C.1M

D.114



Answer: C.111

Reference 1D:(16862) SR @ 38 "HITHR' 30T $ 318 T[ONHR, TR JIeTadd! Fard AT Tl HIurdT 31g?

A.33@5
B.1.5$1.5
C.31@4

D.3%1.5

Answer: C.31@4

Reference 1D:(27642) Pick the correct meaning of the highlighted idiom or phrase from the following:
Sheetal cast away her fears and accepted the job offer
in another city.

A.To throw aside
B.To reject
C.To be dejected

D.To feel shy about

Answer: A.To throw aside

Reference 1D:(27615) Identify the figure of speech in the following sentence: It will take me a second to get
there.

A.Euphemism
B.Oxymoron
C.Hyperbole

D.Apostrophe



Answer: C.Hyperbole

Reference ID:(17116) Wrefieiten! gatd HIST YTl HIvrdr 3g?

A.350 9 70%
B.2100 dT 1/4
C.0.35 x 900

D.500 T 2/5

Answer: B.2100 dT 1/4

Reference ID:(32686) HERIPIA quf STacsTel "HamrH S HIvlt RITTH bei?

A GRS XHTaTS
B.faIeT i
C.3{UUT BoIR
D.HgTe Tieht

Answer: D.HelHl et

Reference 1D:(18967) GTdTel YsaTal AN / JHN UhR 3.
HIVTR

A FHYRY
B.3fcTdHId

c.fa
D.gg



Answer: A.ﬁw

Reference 1D:(21250) SR OWL BT Tsa NVK 3 HTfOT TABLE T Xs SZAKD 318d, TR PIZZAZ &l Xsq
3.

A.OHYYYZ
B.OHYYZY
C.ZYYOHY

D.OHYYZA

Answer: B.OHYYZY

Reference 1D:(23431) "o T TG qarTf o afiewT.
ATHA
B.UUl
Ce¥

D.3YH

Answer: B.pYU

Reference 1D:(18486) WA DI AT T HHUT TR -Tgl?

AITHM AT WGTed]

B.TIfergiHT IR Udhsdl



C.Hidi sfdar arael
D. T U forg= et

Answer: IERE 1%157{ 311?[

Reference ID:(32680) YRATd Ufee S-UrguUIe Siumer faar fefm?

A THATY Fesit

B.9UId q&oi
C. g Ardl
D.9faHT grdta

Answer: D gfaHT ardtd

Reference 1D:(28858) Pick the right idiom which fits into the sentence: My words on him.

A.Loaves and fish
B.Were a far cry
C.Fell flat

D.Daggers drawn

Answer: C.Fell flat

Reference 1D:(23912) Tretad! faearf earl sRIeR ! e,

ATIY x ey
B.8I®R x 7BR

C.a1d x a1,



D.®sdh x CUld

Answer: B.EﬁW X dhR

Reference ID:(17143) 9.55+585+3.75-(9.25-550-4.75)=___
A.20.15
B.20.1

C.20

D.20.6

Answer: A.20.15

Reference 1D:(20488) TRS+A+N+G=41,G+|+R+L=46, RF+R+I+E+S=__?

A.57
B.61
C.58

D.60

Answer: A.57

Reference 1D:(30636) Convert the following active to passive voice: She has written a novel

A.A novel has been written by her



B.A novel is written by her
C.A novel had been written by her

D.A novel was been written by her

Answer: A.A novel has been written by her
Reference 1D:(28885) Supply the correct tense of the verb in the sentence: When | ___ to the
hospital, the doctor the operation.
A.Went.......... had performed
B.Was going.......... will be performing
C.Go.......... performed
D.Went.......... is performing
Answer: A.Went.......... had performed

Reference 1D:(25788) Grefierten! et Gaefarardt HriRa Ut HRATd S0t T=iT fersi=ar us-
HIOHHTAT YA B B 3] ?
A FaRd fewed] Imadt (BNHS)
BI® %ﬁﬁ (Save Vultures)

C.9IE BR ISy a5 ceas®

D.3fET dEcears® RIRTH

Answer: A.E\@ﬁw%@@m (BNHS)

Reference 1D:(31436) HIg] TR Rold' HRATHE S IurdT IaTd 31872

AT TR



B.I[RId
C AT

D. IS

Answer: AT TR

Reference 1D:(20207) X 9 qd fe=ian die ofig. < 90 3% Ioidide aasdl. W1 dl 45 3 S[aidbe aadl. J dl
180 3{T desdl. RIac! dl ST s 45 3R g&5al. ATAT dl BV fGRI die B IH
31?2

ATd
B.Ufgg

C.3R

D.Gf&ur

Answer: B.UfgH

Reference 1D:(34933) SR Gichfde HINd 432567 § 523476 318 , R 543217 § i fdd HNd B A?

A.633126
B.643126
C.634216

D.634126

Answer: D.634126

Reference 1D:(22821) TR $ 3R '+ 3T @ 318 ', TR WielidUo! Tafd T8 Uaid wIvrar 3MTg 2

A12$55@62$45%$65@ 103$42$ 57



Answer:

Reference 1D:(27869)

Answer:

Reference 1D:(16889)

Answer:

B.18$17 @52 $35@ 56 $ 104 @ 44 @ 37
C19$15@162$45$36$103$42$ 17

D.38%107 @52 @ 35 @ 56 $ 104 @ 44 @ 37

B18$17@52$35@56$104 @ 44 @ 37

Pick the correct meaning of the highlighted idiom or phrase from the following:
On the flip side Amit realised he was better off with a
leaner staff in his office.

A.On the other hand
B.Thinking from a negative point of view
C.Seeing from both sides of a situation

D.After a lot of thinking

A.On the other hand

5/20 + 11.5-5/25="7

A12.975

B.11.55

C.12.175

D.12.7

B.11.55



Reference ID:(23939) Trctau! faearf rsar gaid! St e,

A.UTAY x HIdD IR
B.dacUl x 3dXU]
C. ¥l x g

D.‘EIE‘:’X@T*I

Answer: C.!ﬂ?ﬁ X deT

Reference 1D:(30101) Pick the right antonym for the word:
Deficient

A.Complete
B.Partial
C.Sketchy

D.Extensive

Answer: A.Complete

Reference 1D:(25782) HRAHE) Tafd SR argi! e WAt HIurdm IsarTed 31?2

A.FlcH
B.HY U

C.U. §7d

D.3{THMH

Answer: A.m



Reference 1D:(19729) s AT Waaa" g1 Tgufter 31 Wit Sivrr @ siiear?

A.TETE! Al Side HUTRMIRY 3 JTd ddal ATl U Yeb AT SITd
B.gIaR¢ UU hedy TedHel add I gld WU Uls HH! Wd

I —

C.aTEC Fd HRUMITAHT HATd Had gl Suitd 3Id b I g $d ol
D.S Jad WId Jgd! ATl Yegdran A9 A gidia

(Wi N

Answer: C.ATsC Hd HRUNITA HATd I &1 UG 3R fob A dhid Fd bl 38

Reference 1D:(25789) Teiiauet sivra el yare fixhier (@R Sw) seed AEt?

A FART ETd

B.j&xe AYS Uex
C.FHBd G
D.3iSHM 31T B IER d¢

Answer: B.gavad AYS ua¥

Reference 1D:(27034) Find the meaning of the highlighted word in the sentence: Trim the grass using a
powerful mower.
A.Short
B.Decorate
C.Grow

D.Crop

Answer: D.Crop



Reference ID:(17851) 54 =1 1/12 + 50 =T 60% =T 200% + 0.30 x 120 =

A.102
B.102.5
C.99.75

D.100.5

Answer: D.100.5

Reference 1D:(24928) Jeid AecaggIal Iy Teg fAasT.
del ISfAugrTdl IUY ugfi=it A deidd i

AT

B.Ud
c.fAoey

D.GeRI

Answer: B.Ud

Reference 1D:(20234) Ueh |V AT RIIRIA IR fa=H 7 fob 1Y, rerdl.
T dl SIAihs gaad! 31101 4 o 1. Arardl.
T dl Soldidbe gaddl SHTfoT 1 T 1. areal.
W @ Ioidihs daad! 31oT 7 fob. /Y. arerdl.
T dl Ioldihs gaddl 31T 4 fop. =Y. arerdl.
T dl Iolaihs gaddl 3T 3 fos. =Y. arerdl.
ol =T ERIURA favedl @R 3iTe?

A.4 fo =,
B.3. 5 f&.H.
C.2 fo .
D.2. 5 fob Ht.



Answer: A.4 5 =Y.

Reference 1D:(22239) Wrefieiten! gafd HIST UTig HIvrdr 318 2

Ab52-55-32+75+105-83 +42 + 57
B.48-17-52+35-156 + 104 + 44 + 71
C19+15-12+45+36-103 +42 + 107

D.44 +67-52-35-56+104-44-13

Answer: Ab52-55-32+75+105-83 +42 +57

Reference 1D:(30609) Pick the correct meaning of the highlighted idiom: Your parents presence in your life
is worth its weight in gold .

A.Very auspicious
B.Very lucky with something
C.Very valuable

D.Getting a new start in life

Answer: C.Very valuable

Reference ID:(25790) & STeT §& (IUCN Red List) Aefid gRa U8 #1a gifadra?

A STEORETT e ST davSidrd! e,

B. g TR SRIciedT URg Tt HRIhHTES Uaddd aleR Usdied] Ty,

C.SIadad Idd di¢ gid U1 a=aySiTdl.



D. BRI Feied] I USITct

Answer: B.Jd! YIhRRd 3Ricied IR YatH HRishHHes YT dleR USaedl a-auaild.

Reference ID:(31443) HERIPT Ud TeTaR IUd 4ROl Sigeldd 3Mg?

AT
B.dIddl SI8
C.Joft
D.Sgshars!

Answer: B.diddT 818

Reference 1D:(32682) feeatidie =iidiaT YRArAT ST Taue -1 GAftd dhad HRS 3TR?

ATSNg el

B.SATERATd A8
C.3cd fIgRY arerud
D ZfexT ieh

Answer: B.SATEdd "8

Reference ID:(23685) R I Weg T fasgrdf 2reg s,

A ST

B+t



C.3cdls

D3RR

Answer: A.éﬁ‘f

Reference ID:(31439) TTeaUD! BV ! VBTG 3HTR?

A et Hfcre
BRIHTS
C.3fefi=r =g
D ATt TiaH

Answer: A.‘v'IT&‘ﬁ Afeld

Reference ID:(23658) Trctads! AR ear ot St e

A 315 — GR=Y
BT — 3IRTY
C 33! - HgTa
D f&g — Wi

Answer: C.3Nusl — AgTd

Reference 1D:(16535) 30 =1 80% - 16/20 + 2.25 =

A.25.95



B.25.45
C.25.2

D.25.85

Answer: B.25.45

Reference ID:(25787) HRATITS W Jardl 0T e SRR SRd gl cahaRigaR (%) ard
T DIV HTg?

AR > SreuTEd wew > AR > AnTe S
B. 313U Wl > iR > ANTdie > YT

C. IR > 3rPUd UG > ARTeS > AR
D.THZIRY > 3RUMEd e > BQRT > Aure™

Answer: C.figiRm > SreuTad UeR > ArTers > BT

Reference 1D:(18232) S fEed! U] gud eR1qeTT,
S HiH dfafa wafAfe Ser,
A fagR SRt @ o qai
g - ST YoTa qret Tt

R A gd Hiua?
A ST

B.3idt

C.UraTg e

D. g dfdddT



Answer: D.aﬂaﬁw

Reference ID:(19221) "¢Td GUITOTON" I SRR Weades! BHiorar 31 9w 3Mg?
INCEER SR
B.31fiRM SIRTA ¢iedT HUS Ul
C SIRTd I<I1 AR

D. Kt R0l

Answer: ATTS ‘EI'ITSR'ﬁT

Reference 1D:(30890) Identify the figure of speech in the following sentence: Stop being a big baby.

A.Oxymoron
B.Hyperbole
C.Metaphor

D.Simile

Answer: A.Oxymoron

Reference 1D:(19983) AT T KeTan THHTT WMo 3.

A SUHTT



B.HI-dT

C.HHIH
D.fRran
Answer: A 3UHH
Reference 1D:(29366) Pick the right meaning of the highlighted word in the sentence:

You should always warm up before you exercise so that your muscles are pliable.

A.Something which is easily flexible
B.Something inelastic
C.Something easily breakable

D.Something which is very hot

Answer: A.Something which is easily flexible

Reference 1D:(29393) Pick the right meaning of the highlighted word in the sentence:
He was angry with his father's rebukes.

A.To be stubborn about something
B.Endorsement about something
C.Seldom do something about anything

D.Disapproval about something

Answer: D.Disapproval about something



Reference 1D:(18994)

Answer:

Reference 1D:(19475)

Answer:

Reference 1D:(31435)

Answer:

WTeNtd YT THN / JHN UhR s
1Y

A%Gg

B.WeugdIle
C. 3G

D . qGeY

B.Hgugdll

TYT feoiedT ATRERTET I aTiR ST aIgd Gy Sfiedl. YRaR 4Rl

A.SHAATBTD! AeH! Theds HIUAMT YRI YRR 4 Trod HIUR!.
B.ST=figar <R TaTa it BT U HiS YRAR ¢RI,

C. ST Jafd SIRd U1 TSUIRT ST 0TSl TRIYSI fold TRy URaR 4e Usd
3.

D. IR edid WHd WM<l AuTEl SR TRIHG STl oR UfRTaD Id TuTel YRaR
¢RI,

D. S cdrd Wed Yese YU fAShRUI URIHT ST oR Ui Id T YRaR



Reference 1D:(17878) X BTY &1 20% 3MT8. WY & X =T % 3Tg.

A.20
B.1000
C.500

D.400

Answer: C.500

Reference D:(24447) gYTcd aTeTd RepTH! SR HRUGTY Jafd I1Y eg fHasT.
3TACT HEAATS! SHTAUT YT 9 &y [ebd ATal Tt 3 AfADHT .........
3.

AXdY
B.3d
cay

D.dd

Answer: B.3d

Reference 1D:(17624) 451 1/18 + 25 =41 30% =1 200% + 0.25 x 150 =

A.56.5
B.55
C.57

D.54.25

Answer: B.55



Reference ID:(31440) WTefieTden! B0 TTER TShT ST IS ATR?

AfeIR
B.®ISEM

C.3gHeEIg
D. STSifTefTT

Answer: AﬁﬂER

Reference 1D:(32683) Tt HI0d ARl Jedad ATel? (R T - HRAH )

A RIATCIH-AHSTg
B. YD -3TR Ul
C. FdRIT-{

D FIgEY-afiss TR

Answer: B.hUBU-IIR U

Reference 1D:(32678) HRAT HI LM IR (TIAHTIUTHSAR)(Indian Institute of Sugarcane Research)
7Y R 3T,

AHERIY
B.Uf&H &I
C.HH U

D.JW U™



Answer: D 3R U

Reference 1D:(31437) TfFem gH YRare SfaurmeR fadt an, afg onfor foaw & &

A.2dY, 11 Hfg 3Mfor 17 fead
B.3 TN, 12 HfgH 3M1for 16 fda@
C.4 a¥, 18 Hfg 3M1fU 6 faw
MENRECIEIHHEI]

Answer: A2 9 11 Tfga smfor 17 faag

Reference ID:(25182) ' I1 Vel Wieitaua! ar Gt favrg 3,
AT +TH
B.gX + U
CRR+®

D.EX +TH

Answer: B.gX + Udh

Reference 1D:(24901) PENRIEE R R RN ARG
qui BT gIdict fdbar yegdl

A TGRS



B.ggaralt
C.guiRreh
D. 3T I

Answer: C aufaRieh

Reference 1D:(30382) Find the word opposite in meaning to the word: Pace

A.March
B.Stride
C.Slow

D.Gait

Answer: C.Slow

Reference 1D:(25409) FHIHSRAT T XeqTa WIdieie! arg Teft faug e,
ABTHS + Tl
B.®Th s + 3Rl
C.PIPhS + 3Rl

D. &P + ARl

Answer: C.PIHS + 3Rl



Reference ID:(25784) 310 i WIHT IYARTI G d IaIexUl 318,

A TS TRIEa &=
B.ISI I

C.SIRTfd% aRYT TT8e

D.SfiaTaRur Idig &

Answer: A THg TRAEd &=

Reference 1D:(24420) WU THRUM T8 & dTerdT ugrg e,

A Tl e TReaR e Hadt g,
B[ 311 RRYtas) AT,

C. AR Isita JHTelt Hefe,

D. STl TU™IT HTT Uraetl.

Answer: C YR Toita- gHTelt g

Reference 1D:(27896) Find the meaning of the highlighted word in the sentence: Lucky for him, his alibi is
watertight.

A.Request
B.Question
C.Excuse

D.Denial

Answer: C.Excuse



Reference 1D:(20461) X  gférur qd faRiar dis ofme. df 45 Si%1 Sdidrs aesdl. T dl 90 3T Ioldidhs aasdl.
T Y 180 3 TSI, HI 0l 45 3T Ioldidhs d&dl. ac! dl Salhs 45 3R gl
3ATAT o PIUTT fARIT die He SHT MTR?

ATfEH
B.aféfor

cgd

D.3™

Answer: D.31R

Reference 1D:(30863) Identify the figure of speech in the following sentence: When he reached the top of
the hill he felt as strong as an ox.

A.Metaphor
B.Simile
C.Apostrophe

D.Euphemism

Answer: B.Simile

Reference 1D:(29620) Pick the Synonym for the word:
decimate

A.destroy
B.create
C.subside

D.patch

Answer: A.destroy



Reference 1D:(28631) Pick the right idiom which fits into the sentence: The two brothers often with
each other

A.Split hair
B.Turn one’s tail

C.Neck and neck

D.Blue blood
Answer: A.Split hair
Reference 1D:(28377) Find the meaning of the highlighted word in the sentence: Ergo, your principle is to

use powerful words in order to convey ideas.

A.With regard
B.Unacceptably
C.Irrevocably

D.Therefore

Answer: D.Therefore

Reference 1D:(29112) Fill in the blanks using the right form of simple present or present
continuous tense: We a battle against population growth on many fronts.
A.Are fighting
B.Fight

C.Have fought

D.Will fight



Answer: A.Are fighting

Reference 1D:(28604) Find the meaning closest to the highlighted word: Graphic

A.Unclear
B.Obscure
C.Vague

D.Striking

Answer: D.Striking

Reference 1D:(34906) SR 88 x 32 = 240, 71 x 7 = 156 301 31 x 22 = 106, TR 55 x 8 = ?

A.63
B.118
C.126

D.124

Answer: C.126

Reference 1D:(31442) HRdTdie UfgedT Afgel APUCH 10T gler?

ATfaHT ardta
B.IRIfSH! Arrg
C facrgaert dfsd

D.=TSMHT gUedt

Answer: ATty ardta



Reference ID:(25783) YRATS ST TS Fald HIST PRI P I WU HIUN g2

NGRS R E|
B.ATHSIWI AP FeH
C. PSR AT I

D .3Tofla et g Fe

Answer: A ?T@Z[ REIGI

Reference 1D:(25155) g[S Teg 3fiedwl. SRt ARG ST o1 =it A ........

A.Jdeo
B.CI3!
C X

D.der

Answer: A.UdcU

Reference 1D:(32681) TRTAT TiEh i TARIE YUY HIurT [3ehTuflt Y= el gidl?

A e
B.dURU

C.odhdl
D.§SIq]

Answer: B.dURU



Reference ID:(19702) geld T0r quf Hruge! g gafg fAaer. Hid gamen tiad M ...

A. IS fauEr =g
B.®IS Rl !
C.PIS Sardl TRI

D IS YS! dguil

Answer: D.®13 Wﬂ-@?ﬁ ?‘@'Uﬁ

Reference 1D:(25781) URATd 99 Hglaral dhagl oard Teil?

A.1960
B.1950
C.1970

D.1940

Answer: B.1950

Reference 1D:(32685) TRT3T JHATATd BT Haidl B U 3fiadl SITd 319,
AT
B.cfam )
C.Sfera

D! HIEIe! el

Answer: A.Eﬁ?-[



Reference 1D:(25786) YR ‘RMd dTedde’ § SHaTdRul IRANG &3 HIureT sarHed fRUd 31mg?

AT TR

B.I[SRId

c.ieura uew

D.3RUMS UHT

Answer: c.feurmd uew

Reference 1D:(30128) Find the meaning of the word:: Inhibit

A.Clear
B.Open
C.Hamper

D.Free

Answer: C.Hamper

Reference ID:(32687) TRHAT K’ T Xeg PIvT WBTRIT Heferd 3mg?

ADl
B.cfY

C.STcRUT
DEINIEIS]



Answer: C. o ddRul

Reference 1D:(31117) = e
. 2 p s — -
LY 4 _-l | i o e
= 3 -
!
o
I\...,r }
{ . __ﬂ-_ -'\._
b i !
¢ g
", 5
p
vy
s
o)
4
Pl |
< i
r-\.
§ F
L

AGATSEIATE Aaea & ceifaeer foesr areieddr Fomar e

A TRHTR

BTSRRIl

C.Tidkn

D.IGQR
Answer: B. TSR
Reference 1D:(29647) Pick the Synonym for the word: Vain

A.Futile



B.Everlasting

C.Real

D.Stale

Answer: A.Futile

Reference 1D:(28150) Find the word opposite in meaning to the word: Discreet

A.Rash
B.Cautious
C.Careful

D.Restrained

Answer: A.Rash

Reference ID:(27361) Identify the figure of speech in the following sentence: They wore jeans, which
made me stand out like a sore thumb.
A.Apostrophe
B.Metaphor
C.Simile

D.Euphemism

Answer: C.Simile



Reference 1D:(24166) TTeaUD! BN T Yk We3-aa- SRIcIel eq Sesl.

A FRTIYlT
B. gyl
C.ggyfd
D FIg g4t

Answer: A.%ﬁﬁf‘ﬁ

Reference 1D:(28123) Find the word closest in meaning to the highlighted word: Caper

A.Dress down
B.Serious
C.Frolic

D.Calm

Answer: C.Frolic

Reference 1D:(18713) TTeaU! PHIvTT areTd St YddTes ATar?

Al g0t fasmdr.
B. Y I AT HE AiTd S
C. 3Tl 7dT TS od 31,

D. 3T R1efh dhah e Hd 3.

Answer: AT U fasmdl.



Reference 1D:(21477) SRA=1,B=2,..M=13; 3TN =13,0=12, ... Z= 1, TR TTAd Jeb! HIUII
Jg1g SRISR 3R ?

A{B+U+G}>{S+H+E}
B{B+U+G}={S+H+E}
C{B+U+G}<{S+H+E}

D{B+U+G}={J+A+Y)

Answer: C{B+U+G}<{S+H+E}

Reference 1D:(20742) Gl OH =7540, SUN =9510570, dXPLAY=__ ?

A.8060525
B.1612125
C.7317

D.80605125

Answer: D.80605125

Reference ID:(19956) Jeid [aeTTe STt 70T I 3R 311 Ua1g Sicswr:
e Id qraxii=ar o_Y TeiedT ST dIetd At A1dsdl Hisl glal. a)t & o

TEUTd Uy WTeel.

A HCTT ST UM ot hRabId

B.A1dSdd HIG 37Ul

C. A AR goT Araxft 5

D. 3Tl HITIEY 31T IR



Answer: D. 3{TAT HRTR 3191d Fre



